04402 BERE

7= miiEA

M

iR T EWN,
HAFR A FERN
RS A E M PF31,

g -

ME A ECLANELLE,
FRARELLE,
ZERFHED,

B
* RFNFRED
M -

PRAEF IR 06355,
BEHRER M F K 06357,

MK RE

EENS

KFERLA
HERE

T4

TETRA ERFER R
BRARFEERF,
ReREE®RZE D,

© norelem www.norelem.com



04402 HEFEZE

REEHE

FATFFALIE

04402-252500 FHEF| 25 26,7 25|23|16|10(1,7| M4x6 M4x6 - 15 | 128° |12 - 3000 150*
04402-252501 HIEF 25 26,7 25|23(16|10| 1,7 | M4x6 M4xe |20 15 | 123° |12 69,5 | 3000 150~
04402-323200 THEF| 32 345 32|30/20(13|25| M6x9 M6x9 | - 195 | 135° |15 - 4000 200
04402-323201 HIEF 32 345 32|30/20(13|25| M6x9 M6x9 |25 19,5 | 135° |15 103 | 4000 200"

© norelem www.norelem.com




04402 HERE

© norelem www.norelem.com



